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A30THBIE
yA00peHUs
CIIOCOOCTBYIOT
IIPaBUJIbHOMY
YILZIOTHEHUIO
KOPHEBOU

CHCTEMBI,

MIOSIBJIEHUIO
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A30THBIE
yA00peHus
PEKOMEHJOBAHO
BHOCUTH B IIOYBY
WA PAaHHEU BECHOU
WJIU B KOHIIE
3UMHETO IEePHO/IA.
K Tomy BpemeHUu
IIOKa pacTeHus
HAYHYT PacTu U
pa3BUBAThCA,
a30Tco/iep:Kailiee
BEIIECTBO YK€
yCIIEET OT/IATh
OOJIBIITYIO YaCTh
CBOETO a30Ta
IIOYBE.

OHu He0OXOAUMBI PACTEHUIO JIJIs
IIPaBUJILHOT'O Pa3BUTHUSA U POCTA




KauecTBeHHEIE peareHTHI
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1. A2C0O3 + 2NO2 = NANO3 + NANO2 + CO2
2. KCL + NANO3 =(100C) NACL + KNO3
3. NH3=+HNO3 = NH4NO3
4. 2NH3 + H2S04 = (NH4)2S04
5. CO2 + 2NH3 = CO(NH2)2 + H20




